

REQUEST FOR QUOTATION	TROY SCHOOL DISTRICT 1140 RANKIN, TROY, MICHIGAN 48083 248-823-4052 FAX: 248-823-4077	REQUISITION
No. 9367		
DUE DATE 11-6-06 NO LATER THAN 3 p.m.		DATE 10-31-06

REQUEST FOR QUOTE – NOT AN ORDER

THIS FORM MUST BE UTILIZED WHEN RESPONDING TO THIS REQUEST
 BID ENVELOPE ENCLOSED

THE RFQ NUMBER MUST APPEAR ON ALL QUOTATIONS AND RELATED CORRESPONDENCE, THIS IS NOT AN ORDER

Quantity	DESCRIPTION	UNIT PRICE	AMOUNT
	<p>Please supply us with your faxed bid to furnish the Troy School District with CHEMICAL STORAGE CABINETS per the attached specifications.</p> <p style="text-align: center;">Copies of the bid are available at: www.troy.k12.mi.us/purchasing/items_out_for_bid.htm</p> <p style="text-align: center;">Bid recaps will be available at: troy.k12.mi.us/purchasing/index.htm</p> <p>Bids will not be accepted if submitted after the deadline specified (local time) in the advertisement to bid or in the information to bidders. The late submission of a bid makes the bid nonrepsonsive and is a material defect which shall not be waived by the Board of Education. Delays in the mail will not be considered. All Late bids in the mail will be returned to the bidder unopened.</p> <p>Proposal for the submission of alternatives by vendors will be accepted and reviewed. However, if any substitution or departure is not clearly noted and described, it will be understood that the bid intends to exactly meet the specifications.</p> <p>The Board of Education shall be the sole judge as to whether the proposed goods are "equal" or "approved". Quotations must be mailed or delivered to the Purchasing Office, 1140 Rankin, Troy, MI 48083 no later than 3 p.m. on the date shown above. Michigan State Sales and Use Taxes and Federal Excise Taxes do not apply unless otherwise indicated. Exemption certificates will be furnished when necessary. This request imposes no obligations on the buyer. The Board of Education reserves the right to accept or reject any or all bids or to split awards by items or to accept bids, which will best serve the Board of Education.</p>		

THIS AREA MUST BE FILLED IN

DELIVERY TIME	PRICES FIRM FOR	NAME OF COMPANY	TELEPHONE NO.
TERMS		NO. & STREET	FAX #
FOB DELIVERED	ALL DELIVERY CHARGES MUST BE INCLUDED IN PRICES SHOWN	CITY, STATE & ZIP CODE	E-MAIL
CONTACT PERSON (PLEASE PRINT)		SIGNATURE	DATE

TROY SCHOOL DISTRICT BID 9367 CHEMICAL STORAGE CABINETS

Qty.	Flinn Scientific Catalog #	Description	Alternate Part #	Unit Cost	Total Cost
3	SE1460	Stak-A- Cab Corrosives Cabinet			
1	SE1461	Stak-A Cab Floor Stand for Acid Cabinet			
1	SE-8071`	Polypropylene Compartment for Nitric Acid			
1	SE6080	Poison Cabinet			
1	SE7131	45 Gallon Floor Flammables Cabinet			
7	SE6010	Chemical Shelving System			
2	SE3006	Fire Blanket with case			
2	SE102	E-Z Pour Chemical Spill Control Kit			
1	SE332	Sign: Notice-Authorized Personnel Only 10" X 14"			
1	SE1913	Sign: Danger-Keep Out 10" X 14"			
2	AP2288	Buret Rack			
		SHIPPING			
		TOTAL			

TROY SCHOOL DISTRICT Bid 9367 Chemical Storage Cabinets		CO.: Crossbearer Eng TERMS: Net 30 FIRM: Until 12/31/06		CO.: Flinn Scientific Inc. TERMS: Net 30 Days FIRM: 90 Days		CO.: Frey Scientific TERMS: Net 30 FIRM: 90 Days			CO.: Carolina Biological TERMS: Net 30 Days FIRM: 12-31-06			CO.: Science Kit, LLC TERMS: Net 30 Days FIRM: 60 Days			CO.: Fisher Science TERMS: Net 30 Days FIRM: 60 Days			CO.: Sargent-Welch TERMS: Net 30 FIRM: 12-31-06			
Qty	Flinn Scientific Catalog #	Description	Unit Price	Total Cost	Unit Price	Total Cost	Frey Catalog #	Unit Price	Total Cost	Carolina Catalog #	Unit Price	Total Cost	Science Kit Catalog #	Unit Price	Total Cost	Fisher Science Catalog #	Unit Price	Total Cost	Sargent W Catalog #	Unit Price	Total Cost
3	SE1460	Stak-A- Cab Corrosives Cabinet	741.31	2,223.93	650.00	1,950.00	15570022	615.00	1,845.00	70-5388	859.75	2,579.25	45695-00	775.00	2,325.00	S51012CCMF	570.16	1,710.48	18500-060	570.71	1,712.13
1	SE1461	Stak-A Cab Floor Stand for Acid Cabinet	125.18	125.18	169.00	169.00	15570082	95.00	95.00	70-5389	103.07	103.07			NO BID	S51012BSMF	80.26	80.26	18500-048	75.99	75.99
1	SE-8071	Polypropylene Compartment for Nitric Acid	134.08	134.08	176.00	176.00	15570091	95.00	95.00			NO BID	45219-01	115.00	115.00	17-988-484	101.51	101.51	18500-072	85.39	85.39
1	SE6080	Poison Cabinet	479.17	479.17	445.00	445.00	15570106	400.97	400.97	64-7130	489.25	489.25	45693-00	492.82	492.82	S67084	404.72	404.72	18500-064	379.21	379.21
1	SE7131	45 Gallon Floor Flammables Cabinet	919.17	919.17	789.00	789.00	15601504	588.00	588.00	64-7147	1,040.25	1,040.25	45692-00	985.49	985.49	17-988-473	881.07	881.07	18500-004	762.76	762.76
7	SE6010	Chemical Shelving System	616.06	4,312.42	553.00	3,871.00			NO BID			NO BID			NO BID	SESS36MF	697.27	4,880.89			NO BID
2	SE3006	Fire Blanket with case	129.47	258.94	91.04	182.07	15570103	56.94	113.88	64-6918	85.56	171.12			NO BID	S47567	46.04	92.08	S33780-25	57.11	114.22
2	SE102	E-Z Pour Chemical Spill Control Kit	48.32	96.64	33.98	67.95			NO BID			NO BID			NO BID	S802011	75.56	151.12			NO BID
1	SE332	Sign: Notice-Authorized Personnel Only 10" X 14"	25.86	25.86	18.18	18.18			NO BID			NO BID			NO BID	19-10-2214	10.11	10.11	56606-767	5.29	5.29
1	SE1913	Sign: Danger-Keep Out 10" X 14"	25.86	25.86	18.18	18.18			NO BID			NO BID			NO BID	19-10-2044	10.11	10.11			NO BID
2	AP2288	Buret Rack	60.10	120.20	42.26	84.51			NO BID			NO BID	45664-00	59.95	119.90			NO BID			NO BID
		Shipping		77.00		-0-			FOB			165.00			-0-			-0-			11.28
		TOTAL		8,798.45		7,770.89						4,547.94			4,038.21			8,322.35			3,146.27

Broadhead Garrett - No Bid
Pitsco Inc. - No Bid
Wards Natural Science - No bid
Bio-Rad Laboratories - No Bid
Nebraska Scientific - No Bid
Hearlihy - No Bid
A. Diagger & Co. Inc. - No Bid